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Top 50 Mathematics MCQ for WBCS Exam

Q1.\j10+\/25+\/108+\/154+\/225 A9 NI

(a)8
(b) 4
(c) 10
(d)6

Q2. I3HC TUAT BT [ FIIK G {6 I A RS
B @RI BI=G 10 NG &7 4 Fa1 (W@ (T,
qM BT OIS (YT AH | 52 B 30 TG
LT 12 B (O A, M WY A BN BIe]
AMF| JF2 BT WHF [T FACS B JFT OIS
FATS F© SN INI?

(a) 15

(b) 30

©75

(d)3=

Q3. IF6 SN o -TRATNR - NI 72-
DI T4 7829.45 | (512 MLV 10% IO?

(a) 7829.45

(b) 782.945

(c) 3514.23

(d) SRR (PG

Q4. IM Vx+v/121=12.3 T, O 10x A N« AN
(a) 1.50

(b) 16.9

(c) 15.25

(d) 14.3

Q5. I 7f6 MY BTHA 1152 TF 443 S HCF
=T 24| ORF LCM F9?

Q6. AN TS5 CNEF JUIF NG [T T
(a) 5.60
(b) 8.28
(c) 7.42
(d) 6.84

Q7.4900 + 28 x 444 + 12 =7
(a) 6575
(b) 6475
(c) 6455
(d) 6745

Q8. JF6 NI IFF JFG V&I NG WK AT
21 3400 BIFT | IR AN WG WA O 516 WP
WY %4 3,160 BIFT <2 51 TS NI Gy, A6 2
4,120 BIpl | IR WY NTH O 1Y 2CAMRA

(a) 3,160 GIFT

(b) 5,080 BIHI

(c) 15,520 BIHI

(d) 5,520 BIHI

Q9. fSAf6 SeumR Wy fReluo NG e @ s
DO foneT| fON R G 44 =, I
e4mfo =

(a) 24

(b) 72

(c) 36

(d) 108

Q10. IFTH IS JH6 MGTS FI JF(6 RS TIral
SR AT | I fofS 20 R0 sifere pRTed
30%, BACR 60% 40 fFHR/T0T 492 TR A7 10
FAR/T0T SIfoT® HOF N FI; AT TATT Ol 1S
NS fzet

(a) 24 (a) 25 FRf/<or
(b) 56 (b) 28 /0T
(c) 48 (c) 30 fBHI/T0r
(d) 72 (d) 33 fh/Tor
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Q11. 2 (Y, 3 (Y, 5 (Y @3 6 I wCR
([UTATGT (T (F ST @1 N Fof6 [Fgs
NES Z(S ATA?

(a) 3

(b) 2

(01
(d) 4

Q12. 4T IF A JF(0 INTCHAT CFawe IF A
2 10 (AN 41 T B JHI0 I(CHAT CFaeel I
F ARST 14 I OI=CA (A - B) ST?

(@0

(b)1

(c) 2
(d)4

Q13. G0 (G 51T 75 /01 ([T | 7 5775
fFN 77 T FAO© IV, TR (A6 ©f FOK
FACS IOH VT (N?

(a) 75 T°0I1

(b) 85 T0OI

(c) 77 T°O1

(d) 67 IO

Q14. A 12 AN G5 RHT TG FACS 2T A G
(AT B 60% (¥ TF | JH2 FIG PO B 93 A-I]
GFANY F© M #1992

(a) 80/13 A

(b) 70/13 A

(c) 75/13 A

(d) 60/13 A=

Q15. T G TN IO MO AT B 33
FAY 15000 G2 20000 BIpT T IF6 T B
B | 4 T G CNRNS 22500 GBI AT ©OITHF A
CT9 (M1 9 ST AF *MN O OIpl Qe (V| I8
(Y ©IMF 9000 M9 X | ATOICRS AI0wd Wi e
(a) 4000 BIHI

(b) 3000 GI<pI

(c) 3500 BI<pI

(d) 3600 BI<pI

Q16. TN JHIC WIMOTPA 20% AT (AP =T, O
A% ATF 60 BIFl @ ere =T 4 46 20% =
Jf& =7 @11 (51|

Q17. GG FOIIT IO e Rs. 7,290 | IR I3 AN
AfS IR 10% IS AT, OI=(A 9 N 3 IR WIS
fRet?

(a 10,500 BI<pI

(b) 8,000 GIpT

(€)10,000 GIFT

(d) 11,500 BIHI

Q18. A 43 I <8 B AT INCHT WS 4: 3| 6 IR
AHJ'A" G I3 R(Q 26 IR B I A 4N p©9©?

(a) 19 %2 9Rd

(b) 12 9R1

() 21 9%”T

(d) 15 9RJ

Q19. fSNB ST 9T 60, AANO TN TNHFEAR
I3 His® | 42 STemfe =7

(a) 30

(b) 36

(c) 42

(d) 45

Y1372 x V1458 +3/343?
Q20. I VN P9 ?
(a) 18
(b) 15
(c)13

(d)12

Q21. ¥ AN 6%-97 JHfo g ANF v
2 10,000 BIFT RTINS FaN | AN W 2.5 999
A WG SYRT Y AR FEN 97 G2
SN WK WG 5@ SRR S QAT B,
OIRCE (6 AGrS YA NI F©?

(a) 70 BI<pT

(b) 73.08 GI®T

(c) 67 GIpT

(d) 75 GBIl

Q22. (15+V50) {33 (3 —2) dd WK Mo HYHNT©
fRef F41

(a) 150 BIFT T " 1/—5 v
(b) 200 BI<RI (b) V3 ++2
(c) 140 Brl (V35
(d) 120 BRI () V50
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Q23. AIIXS 33 TN TEN JACHT HYATS 3:5|
([AIRTOF (R O (AF 20 IRAF (6 I TN
(R O (AP 25 IQEF (FOI 5 IRT ¥, ©MF
(R I 4.7 WANTS | @RS 38 ToIN
TSN IT5 Yo |

(a) 48 4% 80

(b) 75 43¢ 125

(c) 51 43¢ 85

(d) 90 {<] 150

Q24. IM 76 J08T CFAT 4 : 9 WFATS =T, OI=CeT
BIMA AT Syore el F1

(@)2:3

(b)3:2

(c)4:9

(d)9:4

Q25. G0 AT AS W I 10% S N AW
FE | IM IFGH ARF (FI IR 197 G« <8
111 GeT1R 5200 BI<pT GrN1 PN OIR0eT IRHF (*1CF,
STAR NI OIF A9 AN =

(a) 3224 BIpl

(b) 1612 GBI

(c) 806 GIFI

(d) 403 BI<dT

Q26. JFGH [GeTd 6= YT TAF 5% fGHPG6
6 Wfored [T Faga| I ISR T &
NI (ACF 12% ([ T G738 OGIFED 532 ONF
RN =T, O FF 6T = (BIPINI)

(a) 500

(b) 525

(c) 505

(d) 520

Q29. 8991 x 16003 x 761001 x 3705983 4 (1% 3G
LYY F9?

(a) 379

(b) 389

(c) 439

(d) 459

Q30. I 315 e, AfSBr® 49.6 o, 74 97 T
ey =y =71 e Ao g 14 8 Tas Wyoirs 3
1,2:3 4R 4: 5| foxID A2 IM JH0 IT 2tg Afed
B =Y, O TNHY Grel 8 HIHT WHAN© F© R(?
(a) 287 : 253

(b) 283 : 251

(c) 253 : 287

(d) 251 : 283

Q31. Nl O WIF 60% 46 A IM O =Y
20% I AT G SR 5% J1 AT, OI=(A O I
PO *OIH Iz A2
o
@ "
111:I|:l

(b) =
() 27%

1
[d) 335%3

Q32. 240 ORI JHf6 G [RIEF T, GG
I& RPT AT TR 16 % S =71 FS A

s TS 20T O T YR TR 142 % 7S Z(?
(a) 360 BRI
(b) 300 GI<pT
(c) 320 GI<pl
(d) 420 GI<pT

Q33. ¥ a° +81b*+c?+18b+ 2= 2(a +c) -1 xy,

Q27. SFCH (MBI JH0 IBI JeTl 40% I PR

e 2a° + 8167 +7c QAN FO?

43¢ OIS fofZ® JCeTid B 25% QUG [{f 1 | (a) 12
M AN I [R@PIYT 2100 CF =T, o= | (p) 1995
(RIFTAIIR G G YeTy F© %e? (€10
(a) 3000 (d) 81
(b) 1500
(C) 1750 23 35 3i+5£ +E
(d) 2000 Q34. 54X[ o355 e

11,1 (a) B
Q28. 366%™ ) @ N T 2 4l
(a) 6 (b) s
(b) 36 1L
(c) 216 © *
(d) V6 23

(d 7
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Q35. M 8 YT SILYT 15a078b0, 88 R o102,
OIR(A a GRS b T W NLFT RN FHA| (b~
S5 T A=)

(a) 2

(b) 0

(c)8
(d)7

Q36. Tf6 INTHLAT I TYN® 7 : 5 T, OI=(A
BICF 0T CFaT IO IJ?

(a) 49:25

(b) 25:4

(c) 25:49

(d) 64:49

Q37. 25% p.a-(® fFR BIF A FV F© IQK
BERI 2R oS ([ (S|

(a) 5 R

(b) 6 IRT

(c) 7 RS

(d) 8 R

Q38.a R b U HNYATO 5 : 7 R[] IR OIHT LCM 210
R(Ta-b= '{]’:\‘)ﬂ?

(a) 12

(b) -6

(c)-12

(d) 18

Q39. TM (x-y)? - 2(x-y) = 63 42 xy = 36 X, OIRA( 3x
- 14y d9 NN F© (O A?

(a) 6

(b) 10

(0
(d) -6

Q40. 48 M I@ATT GO TN (BN A TR JH0
FA5ST (G B 99 (61T 4% T°6I FW «AC5Y | I B-9F
NG 51O A-I9 TG 1R (BT 24 FBR/T61 FW =T | B-

[1-(5) =6
Q42.3IM T, OIRA x A9 W [N F1
(a) 283
(b) 276
(c) 273
(d) 374

Q43. A 40 AT GO FIG FATS I 412 B 50 AN
GH2 PG PACO ANF| O/ 5 AN JFANY PGy
FACY 98 ORI B FIGI0 (G (M| A AF IS
PO M (1Y FAR?

(a) 40

(b) 41

(c) 33

(d) 31

Q44. JFOH NfRel MK (RO (TS 32 ARG F
3Pt WSIte 3 9961 20 fNRG JANY (¥ ToF Y
ARG HLACET ©OF 2 01 (FI 197001 | BOF AL (RO
TrONRITS FACS O (T SN 9 O WK ST =7
(a) 2 9701 40 TG
(b) 2 901 50 fNfRG
(c) 3 9701 10 TNING
(d) 3 9701 10 TNNG

Q45. A J38 B 20 PRSI YR RO 4,400
(NG OIFI (R8T =T | A IM B (F awme MK 120
MO NN A 2, B (F PO OB (ST I
(BTHIY)?
(a) 2,000
(b) 1,500
(c) 2,400
(d) 1,800

Q4-6.fl'ﬁ(x+y—z):(y—z+2w):(2x+z—w):2:3:1,
OIR( (5w -3x-2):3w=<POR(J?

R 51 (B30T Weay el 512 % e
24 :
EE)) e (©2:3
(d)18
557x653%672 Q47.IM P:Q=9:7, SR (P-Q): (P + Q) 43 NN

(227X0653%672
Q41. 9 JHPFHGT AR Fo @7 | P97
()0 (@)1:2
(b) 3 (b)1:8
(c)5 (c)1:4
(d) 6 (d)2:13
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Q48. AfS (FG 84 BIFT WA TN F© ATTNY
((HIGre) AfS (G 60 BIFT TN 81 (FG NN
S FIFA® a0 = e NG oS &[S 75.9
BrrY I FACA 15% e 27?2

(a) 27

(b) 20.5

(c) 22.75

(d) 24

Q49. A, B d2 C 97 51G G5l 148 (3| A 8 B-499 91G
Tl 136 (N @98 B & C-99 TG OH6@l 125 (N
(1, B-99 0569l ((IN0) 392

(a) 56
(b) 78

(c) 112
(d) 130

Q50. 17500 BIFIA g e IS 24% T 33
IR THT 10% JAF T ST 41 (RS AR |
5 IR AT AT (NG M = 13300 BI1T | 24% A2 10%
2 HIF (RSN CIPIE WA Fo?

(a) 12 : 13

(b) 3 :4

(©)3:2

(d)13: 22

S1. Ans.(b)
Sol. V16 =4

S2. Ans.(c)
Sol.
A

30 10

%

30

Efficiency of B=3-1=2
: . 15

Time required =

1.
=7 =min.
2

$3. Ans.(a)

Sol. Let the number is x
2x3xixx=7829.45

37475

x = 7829.45 x 10

10% of x = %(7829.45 X 10) = 7829.45

S4. Ans.(b)

Sol.vx =123 -11=1.3
x =1.69

10x = 16.9

S5. Ans.(c)
Sol. Product of number = LCM xHCF
1152=24xLCM

S7. Ans.(b)
Sol. = 222 x 22
oL =" 12

=175%37=6475

$8. Ans.(b)

Sol.

Yearly Income= 3400 = 12= 40800

Income in 15t 8 months= 3160 = 8= 25280
Income in last 5 months= 4120 = 5= 20600
8t months Income = 25280 + 20600 - 40800
= 45880 - 40800

= 5080

$9. Ans.(b)
Sol.
Let 3 numbersarex, y, z

y=2x=x=y/2
y=3z=z=y/3
X+y+z
=44

y y
=+ y+==132
+ 6y +
3y+tey+2y

6
11y

—— =132
6

y=72
Largest number = 72

1152 $10. Ans.(a)
LCM =—— =48 Sol.
24 .
Let the distance — x
3
S6. Ans.(b) ToX ~ 20 km/hr
2+3+5+7+11+13+17 _ 58
Sol. = - =->-=8.28 %xﬁ 40 km/hr
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1
0%~ 10 km/hr

Average speed

=3 1 6x._ 1 x _ 1
“xx=+Z
10 20 10 40 10 10

! [ 1

200 400 100
00 400

~676+2 16 2

S$11. Ans.(b)
Sol. The sum of two sides of a triangle should be greater
than the third side. So from the given sides only two

triangles can be formed.
(3,5,6)and (2,5, 6)

$12. Ans.(c)

Sol.

A=10%=100sqg. cm.

B= %x 14° =98 sq. cm.
~A-B=100-98= 2sqg.cm.

$13. Ans.(c)
Sol.

. distance
Time =

speed

= 77 hrs.

_ 5775
75

$14. Ans.(d)
Sol.
Time taken by B in completing the work
=12 % ﬂ =15 days
160 2
~ [A+B)'s 1 day’'s work
12 13
= 3+ = =
12 15 © 60
Hence, the work will be completed in g days

$15. Ans.(b)

Sol.

Ravi: Shyam: Mohan

= (15000 x 12): (20000 x 9): (22500 x 8)
=180000; 180000: 180000

=1:1:1

Therefore, the share of each in the profitis = Imzﬂ
= Rs. 3000

$16. Ans.(a)
Sol.
Let the CP of the article be x.
ATQ,
1208 80x _
100 100
40x =60 = 100
w2010 _ o 15D
$17. Ans.(c)
Sol.
A=P [1 —1)3
=G 100
3 3
10 9
= 7290=P (l—m) =P [E}
9 9 9
= 7290 =P x 1—0 X 1—0 X B

7290 <1010 %10

9x9x9

!

= Rs. 10000

$18. Ans.(d)

Sol.

A's present age = 4x yvears (let].
According to the question,

dx+6=26
dx=26-6=20
x=5

.. B's presentage =3x=3 % 5 =15 years

$19. Ans.(b)

Sol.
ATQ,
%=60

x+y+ z=180

Now,

x=i[y+z]

2 dx=y+z

= 5x =180

= x=36

$20. Ans.(a)
Sol.

1372 31458
3343

5/1372 x 1458

Y 343
= /5832

= ¥18x18x18 =18
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S$21. Ans.(b)
Sol. P=10,000
R=6%
T = 2.5 years
SI CI
For 2.5 year, For 2 years,
PXRXT R \2
51 = 28 A=P(1+L) 2
10,000X6X2.5 6
e =10000 (1+ )
=100 x 6 x 2.5 =10000 x = x =
50 7 50
=60 x 25 =4 x53x53
=1,500 =11,236
11,236X6 1

CI for %2 year = 100 p

= 674.16 x % = 337.08
CI for 2 years = 11,236 -10,000

=1,236
CI for 2.5 years =1236 + 337.08
=1573.08

Difference = 1573.08 - 1500

=73.08

$22. Ans.(c)

Sol. Mean proportion = J(IS + @)(3 - \/7)

=J5(3+ﬁ)(3—ﬁ)
=/5x(9-2)=V5x7=+35

$23. Ans.(b)
Sol. Let Rohit’s age be 3x and Jatin’s age be 5x.

According to Question
3x-20+5 _ 4

5x-25+5 7
21x-105=20x-80

x=25
Rohit’s age = 75 years
Jatin’s age = 125 years

Pon 1% July = 5200 + 520 + 5200
=10920

Rate on 315t December = 10920 x %

=1092
Total Rate = 1092 + 520
=1612 Rs.

$26. Ans.(a)
Sol.

M.P x — =532
100
M.P = 560 Rs.
112
C.P X — = 560
100
C.P = Rs. 500

$27. Ans.(d)

Sol.
100 100
C.P=2100 x—»x——
75 140

300 X100 x 100

75 % 20
= 2000 Rs,

$28. Ans.(a)

selEriyr-mm-o)

1/3 1/3
= 361-1/3 = 362/3 = 361/2

=6

$29. Ans.(d)

Sol. For finding out the last 3 digits divide by 1000

-9 +3 +1 —-17
8991 x 16003 x 761001 x 3705983

1000
Last 3 digits = 27 x 17 = 459

S24. Ans.(a) S30. Ans.(c]
Sol. Sol.
r:rz"=4:9 M : W
3:1
rn:r2=2:3 ( Jusno
(2 : 3)><4—x9
anl_ZXZ_EIS 4 : 5)
mr, 2x3 T“—S-
M : W
$25. Ans.(b) 135 . 45
Sol. '
P on 1%t Jan = 5200 72 . 108
Rate = 1004 80 : 100
Rate on 1= July = 5200 x — 287 : 253
=520 ~ water : milk = 253 : 287
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$31. Ans.(b)

Sol.
E : 5
=10 : 40
3 : 2

® -5
\\Eﬂ/
7 s

2— -

= 3

x—20 =2
3

50
K—?‘Fzﬂ

110
®=—"%
3

$32. Ans.(c)
Sol.

162'3:»"—1 — loss
37 6 >5.P.

& unit = 240

1 unit = 40

C.P. =7 unit = V=40 = 280
1

New 14296 = >

New SP = 280 xgz 320

$33. Ans.(c)
Sol.

324+81b%+c? 25 +18b-2c+3=0
a=1,9b=-1, andc=1

soa=1, b=—§ andc=1

Now, 2a® 4+ 81b° + 7¢

12
=2x(1]5+51(—a) +7(1)
=2+1+7=10

S$34. Ans.(c)
Sol.
23 23 7 46} 7

—X|—=—of - +—|+—
54 6 2 9 9
23 23 7 9]9

=—X|—X -x—
54" le 2" 46
23 7x3 9

=—Xx—x
54 2x2x2 7
23 23 7

T2x2x2x2 16 16

7

$35. Ans.(b)

Sol.
For divisibility by 8
Bb0+ 8
So, b =8 [max value ]
For divisibility by 11
(16+a)-13=11
=a=8
Difference = 8-8=0

$36. Ans.(a)
Sol.

7

ratio of area = (E)E = (E)z =49 : 25

dx
$37. Ans.(a)
Sol.

25%

$38. Ans.(c)
Sol.
35x =210
x=5
a:b
5:7
a=30
bh=42
a—h=-12

$39. Ans.(d)
Sol.
(x—y)y —2(x—v)+1=064
[(x—y)—1]* =64
(x-y)-1=8
x—y=9
wy =36
x=12
y=3
=36-42
=-&
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$40. Ans.(a)
Sol.
Speed time
A S+24 t-1
B S t
D=5-T

48 =(5+24)(t—1)=st
st—s5+ 24t — 24 = st
2dt =5+ 24

&
t—1+§
~st=48
48

5=
‘ 48
t:1+r-34
t=1+=
tP—t-2=0
tP—2t+t-2=0
tft—2)+1(t—2)
(t—2)(t+1)=0
t=2
48
5=—
2
Speed of B = 5 =24 km/h

$41. Ans.(d)
Sol.

+8 +5 +6
SB57 ®x 653 X 672
9

+6
B 240

9
Remainder = +6

S$42. Ans.(c)
Sol.

X 256

1—— =
529 529
B x4+ 256
529
529 =x+ 256
x=273

$43. Ans.(d)

Sol.
Time (L'I(‘:(l)vt[a(: fvyr(i)::(e) Efficiency
A 40 5
200

B 50 4
The total efficiency of A and B is
=>5+4=9
They worked for 5 days
=9 x5=45

Rest of the work completed by A
= (200 - 45)/5 = 31 days.
~ A will complete the rest of the work in 31 days.

S$44. Ans.(a)

Sol. According to the question,

She takes 2 hours less than actual if she rides both ways
Time for both ways = 3 hours 20 minutes - 2 hours

= 1 hour 20 minutes

= Time for one way = 40 minutes

Time for one way in walking = 3 hours 20 minutes - 40
minutes

= 2 hours 40 minutes

Half of the time she would take to walk both ways is 2
hours 40 minutes

$45. Ans.(a)
Sol. A=120% of B
=A=6/50fB
= 5A=6B

= A/B=6/5
=>A:B=6:5

A + B=Rs. 4400
=11 - 4400
=1-400
=5- 2000

= B =Rs.2000

$46. Ans.(c)

Sol. (x+y-2z):(y-z+2w):(2x+z-w)=2:3:1
> x+y-z)+(2x+z-w)=(y-z+2w)
=>3x+y-w=y-z+2w

>-3w=-3x-2Z

Now,

(5w-3x-7):3w

= (5w -3w): 3w

= 2w: 3w

=2:3
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S$47. Ans.(b)

Sol.
P:Q=9:7
(P-Q):(P+ Q)
9—7 2
——=—=1:8
947 16
$48. Ans.(a)
Sol.
Gain = 15%
15 3
= — = —
100 20

SP = 23 units if CP = 20 units

But SP = Rs 75.9
cP=2%20
3

=3.3 =20
=Rs 66
Applying allegation,

N
7

3 units - 81 kg
So, 1 unit = 27 kg

$49. Ans.(b)
Sol.

A+E+C

=148 = A+ B+ C =148 x 3 = 444

%:13;3:;;4-]3:135)-(2:2?2

%=125:B+c=125x2=250

Adding (ii) and (iii) and subtracting (i)
272+ 250-444=78cm

$50. Ans.(d)
Sol.

If whole part at 249 then SI will be
17500%24%5

= Rs 21,000

100
And at 109 = w = Rs 8750
Applying allegation,
21000 8750

/1330[]/
4550 L7700

4550 : 7700
91:154
13:22
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